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5 ap'=(a-b)(@* -an2b+ an3b; . 4b™ D).

- 6, a™pv=(a+rb)an'-an2b+a* b+ ... b)) (n= %)
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HA=AY

A-TEf
i N 3= a2:h
(@Z A-Blt-b Jor (EgHBT)°
b ] £s=1(a+b+c)H
A=vs(5-a)(5-b)(s-C)
By A=
l a I
] A=(a+b)h
h =
b |
U AL A=t
1 (H+h)a+bh+cH
A=
_“ r wlC
A=TiR
R=ATE

=RNEFE

A=2598s2 =2598R*=3464 12
R=s=1.1557

T=0.866S = 0.866 R

A=A
"
r=RITERE
A=482852=2828R*=331412
R=13.07s = 1.0827
T=1.207S =0.924R

S$=0.765R=0.828
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A-Ef, n-iR
o = 360°+ M B=180°-
A-TSE - 22 fre
R=v/ g ) s Rz;%
s=2VR*-1*

A=, c=HER.
A= 112 =3 1416 2= 07854 d>
C=27%r=6.28321=31416d. /i
T=C+6.2032=/A:31416 =~ 0564 VA
d=C+3.1416=VA*07854 =1.1284/A

A-E, 1-#k, =<=FE.
Xodx A
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|
A=3571l = 0008727572
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v i T= i . =%
. @Jtm A‘ﬂi: Lsﬁy D("%g.
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A =R

A= (R*-72) = 3,216 (R>-12)
=31416 (R+1)(R-r)
=07854 (D> d?)
=07854 (D+d X D=d)
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A & A= |
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B 1 .
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A=mad =3.1416ab
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